1st Derivative and 2nd Derivative Number Lines 2.0
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  y-intercept: y = 4

Asymptote: y = 0 

       Asymptote: y = 0  

  Asymptotes: y=1, x=1, x = -1  

In finding the derivative, we'll use the power rule and exponents with #1. We'll use the quotient rule with #2 and #3. The power of the denominator increases by one.
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*How important is the factored form of these derivatives! 

**Now we're seeing the power of our 'number line technique' in action!

***Note the absolute maximum for #1 at x = 0. For #2 we have two relative extrema. For #3 we say the function is decreasing for x < -1 and decreasing for -1 < x < 0, but 

we would not say #3 is decreasing for x < 0. (Got it?). 
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*This looks bad and the denominators' powers seem to have increased by 2 instead of just 1, but cancel!
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